H R ' F

RE&ES © 20250509001

I

R#W{ERLH : 2025%05809H

THOBDHEEDEBELLEIFET,
HRERE ¥1,800,000 — )
XERREHEICITHER 10 % ¥163,636 HEENTHED FT,
H4: - E
R T650-0025
T T e —

IHEG=E: T—XVIEHRETE
REAMHR: 6/10

TH: #9 3 8

G ZiKFS0% - SETRFS0%

i
7B CRO%IC. BA1 8 0F%BEL (RBRABETVET,
SEOTELICL > T, SBICHANRET 2BED BB L TRILES W,




1/5R=Y

E ® A RS

T2 I > — X 5
BHEES : 20250509001

No. HE ik - BE BE | B | B &8
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2 |&m R—LTUF 1 #® 642,600
3 |EE FyFYIUT 1 # 531,750
4 |zof HRER Y 232,334
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No. HHE % - BHE ¥E | B | B Bk
1.77—Y91 R
Tr—YAR A1 VER
CY—NHHE 2.24 m 14,000 | 31,360
CREDBTE (FtiEs) 2.24 m 18,000 | 40,320
VHER 1 #I | 70,000 | 70,000
B 14 m 5000 | 70,000
MABHOTEEY— b 1 S 18,000 | 18,000
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2.K%
T =7 ILAKEE R I+ AT+ 3% (JLFY Y or A1) 0 #I 90,000 0
Ry F8E (28) - BRBAUUIAAS & + M7 BB ARAT 0 HI 80,000 0
e WO0O0ci@< LT 1 HI 24,000 24,000
AovE— -BFEAO VY —RE 1 = 75,000 75,000
Aovy— Aoy —HH
C AV Y —RiRE 6 m 40,000 240,000
C AUV =T - B 6 m 25,000 150,000
- B - R 6 m 5,000 30,000
5 LE -BFEAOYY — Y LBRE 1 = 48,000 48,000
L& hovy—Lt5 LERR
- KT uAE 5 m 4,000 19,200
- PBR&D (Wim) 5 m 5,000 24,000
R (V0OX or B) 5 m 3,000 14,400
- BIEM - BER 1.00 = 18,000 18,000
AUV —LOREREEIANTCE|@I—Y VY
KEBITBIEEERD
hov5—F 76 ABE0
(BRI £ > TIHBMBEARE)
[Net] (BitrZ) 642,600
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- THEALVEE - AR 7.50 m 1,600 12,000
T SAN—Bh 7.50 m 1,000 7,500
-5 UBhKBE 7.50 m 4,500 33,750
chyZa-—hk 7.50 m 1,400 10,500
- BIEM - BER 1 ® 15,000 15,000
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HEEEM 1 KET
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SHEICL->TIRTORBEICERD)
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